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1A1RN 150 10 31.75 = = 3 140 SDB9001 q
1A1RN 150 10 31.75 = = 3 200 SDB9011 1
1A1RN 180 10 31.75 b = 3 140 SDB9003 1
1A1RN 180 10 81.75 i = 3 200 SDB9013 1
1A1RN 180 13 31.75 = o 3 140 SDB9004 1
1A1RN 180 13 31.75 = = 3 200 SDB9014 1
1A1RN 200 13 31.75 = = 3 140 SDB9007 1
1A1RN 200 13 31.75 = - 3 200 SDB9015 1
1A1RN 200 15 50.8 = = 3 140 SDB9009 1
1A1RN 200 15 50.8 — = 3 200 SDB9016 1
14A1 180 10 81.75 120 3 140 SDB9002 1
14A1 180 10 31.75 120 3 200 SDB9012 1
14A1 180 20 31.75 120 10 3 140 SDB9005 1
14A1 200 10 31.75 135 3 140 SDB9006 1
14A1 200 15 50.8 135 10 3 140 SDB9010 1
14A1 200 20 31.75 135 10 3 140 SDB9008 1
14A1 300 25 76.2 240 10 3 200 SDB9018 1
14A1 300 25 127 240 10 3 200 SDB9017 1
14A1 300 35 76.2 240 20 3 200 SDB9020 1
14A1 300 35 127 240 20 3 200 SDB9019 1
CBN
AR sfiE (mm) P =]
20N e T % ] T X HIE AmEas e B Z
1A1RN 150 10 31.75 = == 3 170 SCB9001 1
1A1RN 180 10 31.75 = = 3 170 SCB9003 1
1A1RN 180 13 31.75 == — ) 170 SCB9004 1
1A1RN 200 13 3175 — = 3 170 SCB9007 1
1A1RN 200 15 50.8 = = 3 170 SCB9009 1
14A1 180 10 31.75 120 3 170 SCB9002 1
14A1 180 20 31.75 120 10 3 170 SCB9005 1
14A1 200 10 S1 75 135 3 170 SCB9006 1
14A1 200 15 50.8 135 10 3 170 SCB9010 1
14A1 200 20 31.75 135 10 3 170 SCB9008 i
14A1 300 25 76.2 240 10 3 170 SCB9018 1
14A1 300 25 2 240 10 3 170 SCB9017 1
14A1 300 35 76.2 240 20 3 170 SCB9020 1
14A1 300 35 127 240 20 3 170 SCB9019 i
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